	D+L pooled WMD
	[95% Conf. Interval]
	% Weight

	-0.009
	(-0.013, -0.005)
	100

	Heterogeneity chi-squared = 105.13 (d.f. = 19) p = 0.000

	I-squared (variation in WMD attributable to heterogeneity) =  81.9%


A

	D+L pooled WMD
	[95% Conf. Interval]
	% Weight

	-0.016
	(-0.029, -0.002)
	100

	Heterogeneity chi-squared = 235.04 (d.f. = 23) p = 0.000

	I-squared (variation in WMD attributable to heterogeneity) =  90.2%


B

	D+L pooled WMD
	[95% Conf. Interval]
	% Weight

	-0.035
	(-0.046, -0.025)
	100

	Heterogeneity chi-squared = 5464.98 (d.f. = 96) p = 0.000

	I-squared (variation in WMD attributable to heterogeneity) =  98.2%


C

	D+L pooled WMD
	[95% Conf. Interval]
	% Weight

	-0.029
	(-0.034, -0.023)
	100

	Heterogeneity chi-squared = 1894.23 (d.f. = 93) p = 0.000

	I-squared (variation in WMD attributable to heterogeneity) =  95.1%


D
